
1

额定功率 / Motor power  : 400W
电池配置 / Battery capacity : 18V=6Ah
充电时间 / Charging time : 2-3h
安装时间 / Time to bulid : 6-20 hours
最大载重 / Max weight : 50kg
产品净重 / Net weight : 30kg
续航时间 / Using time : 1hour

卡 丁 车 套 件
GO-KART KIT

02K



1

1

2-4

5-41

42-44

目  录 
Contents

注意事项 
Warning

GK-02 安装步骤
GK-02 assembly drawing

GK-02 快速安装图
GK-02 diggarm



2



3



4

六角扳手/ Hex key 六角手柄/ Hex handle

The positioning blocks are someof the smallest parts but they also 
some of the most important.Putting them in the right place isa key 
of the product.

产品中一共包含两种定位块，它是至关重要的部件，请仔细
分辨。几乎所有零件的装配都会使用到他们，请务必按照说
明使用，避免漏装或误装。



5

GK-02

1

3

2PART

PART

PART

六角扳手/ Hex key 六角手柄/ Hex handle

The positioning blocks are someof the smallest parts but they also 
some of the most important.Putting them in the right place isa key 
of the product.

产品中一共包含两种定位块，它是至关重要的部件，请仔细
分辨。几乎所有零件的装配都会使用到他们，请务必按照说
明使用，避免漏装或误装。



6

1 PART

PART 1-1

PART 1-2

PART 1-3



7

PART 1-1

M8x25

M6=2

360mm

A

B

C

M8x25

M6x35=2

140mm

     The positioning blocks are some of the 
smallest parts but they also some of the most 
important.Putting them in the right place is a 
key of the product.
       产品中一共包含两种定位块，它是至
关重要的部件，请仔细分辨。几乎所有零
件的装配都会使用到他们，请务必按照说
明使用，避免漏装或误装。

连接后拧紧两个螺丝。
Tighten the two screws
after connection.



8

D

E

F

G

X2

40mm

M8x20

M8x20=2

M8x60=2

M8x32=2

M8=2

注意零件上下方向。
Pay attention to the up 
and down direction of 
parts.



9

H

I

J

M8x25

M8

M8x20=2

M8x20=2

102mm

105mm



10

K

PART 1-2

A

X2
M8x20=2

160mm

X2

M8x20=2

44mm192mm



11

B

M8x20=2

40mm

C

X2

M4x20

114mm

每格为 10°，最高精度为 5°（半格） 
Each mark is 10 ° , and the maximum 
accuracy is 5 ° (half mark)

10°



12

D

E

M8x32=2

M8=2

20°



13

PART 1-3

A

B

C

200mm M8x20

29mm

M8=2

M8x20=2

M8x25=2



14

D

E

F

G

M8x20=2
200mm

M8x25

M8

M8x32

M8

M8x20=2

48mm 46mm

60°



15

I

H

M8x32=3

M8=3

M8x20=4

10°

20°



16

J

M8x20=4



17

2 PART

PART 2-1

B

A

M8x25M8

M8x20=2
60mm

X2

X2



18

30°

C

D

E

M8x32

M8

240mm

M8x20

M8x20  

67mm

X2



19

M8x32

F

G

M8

M8x20

37mm

30°



20

H

M8x50

如图，对称组装共 2 个。
As shown in the figure, 
assemble 2 components.

∅8x∅16xh1.6

∅8x∅30xh2



21

3 PART

PART 3-1

PART 3-2



22

M8x25

M8

A-2

X2

PART 3-1

A-1

80mm

M8x20=2

X2



23

A-3

M8

M8x25

A-4

M8x32

M8

如图，对称组装共 2 个。
As shown in the figure, 
assemble 2 components.

X2



24

B-1

B-2

280mm

M8x20=2

M8x20=2

B-3

M8x20=2

M8x25

M8

45mm



25

B-4

B-5

M8x20=2

30mm 105mm



26

C-1

320mm

M8x20=2

C-2

M8x20

M8

M8x25

如图，对称组装共 2 个。
As shown in the figure, 
assemble 2 components.



27

D-1

C-3

X2

M8x20=2

120mm

M8x60

120mm



28

D-2

D-3

D-4

M6x14=4M6x20=2

M8x20=3

M8x20=1



29

D-5

M8x20=2

240mm



30

B

PART 3-2

A

C

M8x20=3

M8x20=3

螺丝先不拧紧，待传送带拉紧
后，再拧紧固定。
The screws aren't tightened until 
hold toothed belt is tensioned with 
force ,then tensioned bolts well.

M8x20=2



31

D

222mm
M8x20=2

936mm

∅8x∅30xh2=2

∅22x∅32xh10=2



32

F

E



33

G

222mm

M8x20=2

∅22x∅32xh10=2

∅8x∅30xh2=2



34

ASM.

ASM.1

A

M8x60=2

M8=2



35

B

M8x60=2
M8=2



36

D

C

M8x60=4

M8=4



37

ASM.1

A

X2M8x60

M8x20



38

ASM.1

A

B

M8x20



39

固定线缆。
Fix the cable.



40

应用于 P27 F 处。
Applied at P27 F.

如果您有任何问题，或者更好，更酷的创意，欢迎联系我们。
If you have any questions, better ideas, or join our team, welcome 
to contact us.  

do@docyke.com



41



42



43



44



45


